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ACCOUNTS RELATED IGICIR ELINIC]

KNOWLEDGE
1. The Directors of 'A' LTD. resolved to 1. wfor. & garetent 9 10 &. a1et 2000 FHAT
forfeit 2000 equity shares of Rs. 10 33T, Ifd 3137 7.50 . g, 2.50 &, i
each Rs. 7.50 per share paid-up for non S ATEAT T <eHTT ST o HIT BT A
payment of final call of Rs. 2.50. 1000 =1 e 3R w0 RRT e ST 3 & 1000
of the forfeited shares were reissued at H6E T Waﬁaﬁgﬂﬁf&lﬁ%‘{ﬁq

Rs. 6 per share. Capital Reserve
Account will be credited by: -

Q| Yt S WA shSe B: -

Rs. 3500 A E
B. Rs. 7500 B
C. Rs.9000 . @ 9000
D.

Rs. 11000 %\ ©. % 11000

2. Amount received from realisation : 2. hIEREOT § STH TR & T ST &R -
firstly paid to :

A. WTEERT R
A. Partners i3 § N
B. Creditors of partnef O B. e SRR (ST
C. Creditors of fir @ C. W War (ST hi
D. None of th& D. A FIE Tl
3. Basis Assumptions of Accounting are :- 3. SiEieh % AT A=Y & :-
A. Separate Business entity ST T G SohTS b HT=raT
Assumption )

B. Going Concern Assumption
C. Money Measurement Assumption
D. Allabove
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4. Commonly which ratio is calculated in
times :

A. Profitability Ratio

B. Activity Ratio

C. Financial Position Ratio
D. None of the above

5. Match the column: -

A B
1. Building  (a) Debit
2. Salary (b) Credit
3. Left Side  (c) Asset

4. Right side (d) Expenses
A. 1(), 2(b), 3(c), 4(d)
B. 1(b), 2(c), 3(d), 4(a)
C. 1(c), 2(d), 3(a), 4(b)
D. 1(d), 2(a), 3(b), 4(c)

6. Which of the following is not ’!
accounting software :
A. Fresh Book Q
Adobe 1 4 O

B
C. Xerox %
D. Online Inv@

7. The credit balance of the retiring
partners current account is transferred
to:

A. Debit side of his Loan Account
B. Debit side of his Capital Account
C. Credit side of his Loan Account
D. Credit side of his Capital Account

4. G R AT 3 TOMET SHA (TO)
o it STl 2
A.  SATHETHHT AT
B. forameficrar sgard
C. fordftar fearfa srguma
D. 39w & Is T

3. Hﬁsﬁ?ﬁw

A B

1. 9yaq (a) forare
2. dad (b) THTEHAT
3. ol (c) Tufy
4, (d) =

, 2(b), 3(c), 4(d)

. Q) 1(b), 2(c), 3(d), 4(a)

\ €. 1(c), 2(d), 3(a), 4(b)

D. 1(d), 2(a), 3(b), 4(c)
6. frfefad # 9 T ohaihd araedsR

el 2l

A. Fresh Book

B. Adobe
C. Xerox
D

Online Invoices

7. SIS TV LA ATeT HTSIER o =1e] @1
T hiSe (THTHT) T ST foha ST
&

A. 3T 0T W & Sfee qer
B. 38 Ish @rd o e vy
C. 3T U T & ohise T&T H
D. 38 USht @1 o shiee var H
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8. A large amount spent on special 8. ot aETd fopm m fary forsmom == R

vertisement is : o
advertisement is A qgﬁTraam
A. Capital expenditure

B. Revenue expenditure B o
C. Revenue Loss C. smme
D. Diferred Revenue expenditure D. IR 3 =
9. A credit item of Rs. 200 has been 9. 200 % T Uk shie< He TH & @Td H 2fere
debited in ‘Ram’ Account, Correct it: o R T, T it R
A. Ram account will be credited by
Rs. 200 A. TH @I 200 & H shise 2T
B. Ezmlggcount will be debited by B, TW 100 & o efz anm
C. Ram account will be credited by C T 400 & § shfge Trm
Rs. 400 @ T @TAT 200 & & Sfere 2
D. Ram account will be debited by .

Rs. 200 \ *
10. Indian Accounting Standards are issued O AT Ao TTeh! shl ST ST © -

by - A s fd
A. Reserve Bank of India
B. Central Government Q B )
C. State Government * O C. USTHEER
D. Institute of Ch @ountant D. YR ATEE @R G
of India
11. In India, the Board of Accounting 11. 9Ra ¥ Qi YT SIS T T3 el (R
standard was set up in the year. ™
A. year 1972 A. &11972
B. year 1977 B. &11977
C. year 1956 C. §11956
D. year 1932 D. ®11932
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12. The position of club at the beginning of
an accounting year was as follow :
Assets T 37,180
and subscription received in advance %
5,000
The opening capital fund is :

A. 32,180
B. 37,180
C. 42,180
D. 5,000

13. Current Ratio 2.7:1
Quick Ratio 1.8:1

Current Liabilities T 60,000

value of stock is :

A. 60,000

B. 54,000

XX
C. ¥1,08,000 @
D. ?1,62,000\\'0

14. Direct — expenses are recorded in :
A. Trading Account
B. Profit & Loss Account
C. Balance Sheet
D. All of these

12. fordt cimieh a9 o YR 1 Ueh el ahl
feorfer e oft:
Tt T 37,180
AT AR 979 3EH T 5,000
SRR St Ry B
A. T32,180
B. 37,180

C. 42,180

D. 5

A. 60,0003
B. 54,0003
C. 1,08,000%F

D. 1,62,000%3

14. yeger o3 forg S 2

A. SIYR @Tdr
B. oY : g4 @dr

c. fumr
D. Javft
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15. The amount due to retiring partner if 15.  fopwt STahTST UEUT AT BTG i ¢

not paid immediately is transferred to : UNEIRIEE S R U CIE R HRERISIC IR
A. Current Account 39 foier SR o @
B. Bad - debts Account A m@@’rﬁﬁ
C. Loan Account B. SIS V1 @
D. Bad - debts reserve account C. =madH
D. 3TIIe =K1 T @I §

16. In calculation of depreciation according 16. sHUTTA Y UEGTT ¥ G TR T Y B
to Reducing B_alance method, the assets ey T TR R R et 9 5 E
purchased during the year, the &
depreciation will be charged for the & ] , AT T <l ST 1Y -
whole year if with the rate of a
depreciation - A oSt

A. Percent word is added @ NEASSIR]
. L 4
Per annum word is added

B. N\, €. sfemwsEagrE
C. Percent word is not added %
3 O

Per annum word is not added D.  fcrerd vrse 7 er &

17. Joint Venture Account is: - 17. 3h ATed W & -
A. Salary Account A. a9 @
B. Real Account E&O B. dTifdeh @rar
C. Nominal c% C. TMHE 1 @rdr
D. PPP AccoAu’nt\' D. .t t. @

18. How many column are in Three column 18. Frearft Uehg T H foha oM 21 © -

Cash Book - A 12
A 12

B. 14 B. 14
C. 10 C. 10
D. 16 D. 16
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19. ‘A’, ‘B’ and ‘C’ share profits in the 19. @, < ug dpy ATH T 1:3:3%31@1'[\‘[&

ratio of 1:3:3. If ‘B’ retires from the died 8 9fs & STaam o STaehmT Tgu
business, the profit sharing ratio of ‘A’ AT R A T T T T AT forwrer
and ‘C’ will be : EERIGRI U
A 12 A 12
B. 2:3 B. 23
C. 13 C. 13

D. THa®E

D. None of these

20. The Secret Reserve will be shown in :
A. Profit & Loss Account

B. Profit & Loss Appropriation A/c

C. Balance Sheet : J
D. None of these O D. YIS &

21. Which account is related to Une 21. STy Sfi=r sh grey fohg @ 9 2?
2
Insurance? A &
A. Personal Account ¢ O
. all?lléﬁ Wl
B. Real Account B
C. Nominal A@ C. JWHE & @
D. None of abov D. IUhH ¥ hle T8l
22. Unclaimed dividend is always shown: - 22, ranfrd SATIIST WS ST STQ -
A. In Profit & Loss Statement A el fa i
B. In Profit & Loss Appropriation )
Account B. omv-gi+ fafrnsH foemor g
C. In Asset side of the Balance-Sheet Cc. fR¥dufrued
D. Inequity and liabilities side of the ) .
Balance sheet D. Tz o wwar usl qrfeied et &
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23. |If a company issued equity shares of
Rs. 1,00,000 at a Premium of 10% How
much money can be used to redeem the
preference shares.

A. Rs. 1,10,000
B. Rs. 90,000

C. Rs.1,20,000
D. Rs. 1,00,000

24. Preparing Bank reconciliation
statement is essential for banks?

A. Essential
B. Essential to correct the errors

C. Essentials for safety and actual
position of account holder

D. Aboveall

25. Bank charges and interest are@
in: O

Cash Column
Discount C@
L/F Column

Bank Column

O 0 W >

26. The difference of Trial Balance is
transferred to -

A. Capital Account

B. Balance Sheet

C. Suspense Account

D. Profit and Loss Account

23. 7fg ush FHUHT . 1,00,000 F. o THAT FT
1 fteET 10% Tearmsit 9T fomam &, at fora i
3T AT START AT R0 o SN |
g

1,10,000 ¥.
90,000 .

1,20,000 ¥.
1,00,000 ¥.

oo w >

24.  Son T foraoT ST sent & foTw
CIEROED
A. H
T 3Rl 3ok ot o oI 3TTagareh &

. C) AT T 18T v wet fRufa & foe

RS

25. Sk =TSl Ud SATST <hl AT 21
A. THSEHH
B. JRREMH
C. @y @@= ¥
D. dx@H#A

26. qoIYE % 1= ol ST {ohaT ST 2-
A, USTETTH
B. fuzd
C. o= /Udg@rarH
D. @Y : g @y
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27.

28.

29.

30.

31.

Purchase of building for cash: - 21.
A. Decreases total liabilities

B. Total assets remains unchanged

C. Increases total liabilities

D. Decreases total Assets

Investment can be : 28.
A. Current Assets

B. Fixed Assets

C. Intangible Assets

D. Either AorB

Which of the following is a Nominal 29.
Account

A. Interest A/c .

B. Outstanding Interest A/c
C. Accrued Interest A/c
D. Prepaid Interest A/c

According to going concern concep 30.

business entity is assumed to M
A. Along life ¢
A short life

B.
C. Avery sho@
D. A definite lif

Surrender value of Joint Life Insurance
Policy are shown in:

A. Profit & Loss Alc

31.

B. Profit & Loss Appropriation A/c
C. Assets side of Balance Sheet
D. Liabilities side of Balance Sheet

TS AT STTUR o STTHR I8 AT
mm%ﬁﬁ%mm$mﬁma

A. EreehTef Ssfiae g

B. TCUshIA Sia 2

C. 3fa STeuehrefi Sfie g

D. fafsra Sfemamm

T ST ST HifoTelt o1 JHd g
qITTT ST 3

A. AR @Y

B. & g1 fafeie @mar &

C. fazFumfduad

D. FEaauad

Set- A
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32. The Balance of Cash Book is always :-

A. Debit

B. Credit

C. Debit or Credit
D

None of these

33.  The Balance of Sinking Fund

Investment Account after the realisation

of investments is transferred to:
A. Profit & Loss Account

B. Profit & Loss Appropriation
Account

C. Debenture Account
D. Sinking Fund Account

32. {erg e ST SN THII A1)
N CEE
B. wHTEHeH

C. [ ar v
D. TH IS T

33, fafRITTT o TeRaTeRtoT (SHel) o TR
feifohTT e Tt @rar 1 2y =t
TATR:

A. @rar
B. IEIERISCECIR]]

eqsr@n?n

’\\&1 fefeh woe @rar

34. In practice, share capital of a compa O 34. grede H FHFOHT IS & AR 2

means :

A. Authorised Capital
B. Issued Capital ¢
C. Subscribed Capit

D. Paid—up I

>

35. A transaction must hold the following
properties :

A. Only Atomic
B. Only Atomic and consistency

C. Only Atomicity, consistency and
durability

D. Atomicity, consistency, Isolation
and durability

A s

B. fwifera gsft

C. Hiwh g ar SAfvrf=ra dsht
D. i o1 Tehdr gsit

35. ok o 377 PR o SR A TRy

A. Only Atomic
B. Only Atomic and consistency

C. Only Atomicity, consistency and
durability

D. Atomicity, consistency, Isolation
and durability

SPACE FOR ROUGH WORK / T &%Td & forar sre
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36. Goods sent on consignment is written 36.  INoT U AT TTAT WA TR Gt | forar

in Trading Account as- ST -
A. On Cost Price A. AT T T/
B. On Sales Price B. foska g™
C. On Market Price C. ANRIATT
D. On Mutual Understanding D. 3Tt wmEiid W
37.  According to SEBI guidelines a 37. el o fAeTl o STTET TMeH o o 0Tt
company will have to create debenture F1 Tf3T 31 BRa gfeTd O SBoTs YT Iy
redemption reserve equivalent to what
BT
percentage of debentures redeemed.
A. 40%
B. 50% @
*
C. 70% N € 7%
D. 100%
D. 100%

38.  Which of the following is not a é 38. frfetfiaa o & s ke afgdts & 2

out-flow: PR aﬁz
A. Increase in creditors O .
. B. sdelidgfte
B. Increase in debto <
C. Increase inx‘ C. Tl gl
D. Increase in prépaid exp. D. vded =i H gfa
39.  Analysis of Financial Statement 39. forftar foraott o fargetsor & smifiret g 21
involves : A S
A. Trading Alc s
B. Profit & Loss A/c B. o
C. Balance Sheet C. e fergr
D. All D. &t

SPACE FOR ROUGH WORK / &% &Td & forar sre
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40. Bad debts related to: 40. ot =0T 36T HEaT=e BT & :

A. Creditors A. TERI Y
B. Debtors B. TR
C. Cash sales C. o fosmaa
D. Above all D. STrhafid
41. Sale of Goods on credit is recorded in : 41. IYR S T YA HT i@ TohAT ST & -
A. Cash Book A TS TFH
B. Sales Book B. foska & §
C. Sales Return Book C. & H
D

Journal 6 (dsfh) &

L 2
.
42. public Limited Companies can not @ ufecrer feafies swrafaat fffira 72t st
QO w

issue:
A. Redeemable Preference Sharé A. TRl qEffier st
B. Irredeemable Preferenc B. femTer Tfiet qeiferehi 33
* .
C. Guaranteed Prefe% re C. Seamfere qaifershrT 377
D. Non Votin@ ar D. forr qanferenm aret 3T
43. In preparing the Accounts of Non — 43. T TR TEATSTT & Wid S 96
Tradi,ng Institutions the ‘Endowment rrfita Y T oA S 2
Fund’ is shown as -
A. Assets side of Balance Sheet A. feafa forewor & rafa ger i T
B. Liabilities side of Balance Sheet B. Rufy faawr % afres vear i aw
C. Expenditure side of Income and .
Expenditure Accounts C. =97 @ H =59 1 T
D. None of the above D. 3WhH AL a8

SPACE FOR ROUGH WORK / T &%Td & forar sre
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44.  From the following items, which item
will be shown in both income —
expenditure and receipt-payment
account.

A.
B.
C.
D

45. ‘A’ & ‘B’ are partners in a firm sharing

Prepaid salary

Fixed deposit in the Bank
Cash purchase of Land
Cash payment of Rent

profit — loss in the ratio of 2:1. They

decided to share profit — loss equally.
A’s sacrificing ratio and B’s gaining

ratio is -

A.
B.
C.
D

46. Prepaid expenses appearing in the
Balance will figure in

A
B.
C.

D.

1/3 and 1/3
2/3 and 1/3
1/3 and 2/3
None of these

Trading Account Q

Profit & Loss Ac

Tradlng Ac% t & Loss

Balance Shee

47. Qutstanding Expenses in the Trial
Balance will be shown in :

A
B.
C.

Liabilities side of Balance Sheet
Debit side of Trading Account

Debit side of Profit and Loss
Account

None of these

44, Ty 99 S 9l 0e 3T — =99 U I -
WA a1 @Tal | STt S|
A. qaEd o
B. s H Tmf S
C. ¥fH T Tehe 3
D. fortra s eha AT

45. <37, T U BH o ATIAR & | IohT AT —
BT TN 2:1 8 I8 ATl b G
AT H S 1 HOr ferm <31 o1 &

é) 1/3 T 2/3

’\ D. 0§ IS T
R
)

46. qarde | forar qaacd = 1 ora fora
Eﬂ'Q:IT[_

TR @I

AT - BT @

IR @Td T AT - F1H @

feerfer fererco (fergm)

O o w

47. e g=ft & Secifad taed o e
S
A. FEsaRcyad
B. SR WAl Sfere d
C. Y- @mars el d
D. THA®E T

Set- A
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48. The basic function of Financial 48.  forfia oRaTeRT 1 qo M &
Accounting is to : N N
A. record all business transaction B fydr 2oy =

B. i i i . 2 c
interpret financial data C. FEiE raEd N
C. assist the management in

forming functi ffectivel
performing functions effectively , ,
D. 39 Y HHIE A
D. None of the above i
49. The name of insolvent partner in the 49. R W A fare # feanforan arser
case of Garner Vs Murray was 19 9T-
A.  Wilkins A. fafeha
B. Garner B.
C. Murray C
D. Joyas
*
50.  Ascertain cost of goods sold from the s& Frifona TSl & Sl T AT shT AT

following figures : T HITSTT;
Opening Stock ¥ 3,700 O IR @he T 3,700
Purchases ¥ 20,800 T T 20,800
Closing stock ¥ 2,500 37feaq @ T 2.500
A. 23,300 Q
. O A. 23,300

B. ¥20,800 @ B. % 20.800
C. 22,000

Q C. 22,000
D. None of th&

D. W T g Al
51. The credit balance of suspense account 51. 3= WAl Sl shiee ameh! foret STt ©:
. Assets side of Balance Shee .
B. Liabilities side of Balance Sheet B. foar® T .
C. Assets and liabilities side of C. fegreh arferes v wrufq wer &
Balance Sheet D. i i goft & srereRt

D. Less in capital in the liabilities side

SPACE FOR ROUGH WORK / T &%Td & forar sre
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52.  Under Annuity method, The amount of 52. it ueafa o <gta Y UiRT ;
depreciation is :

A. i o st &
A. Increasing every year
. B. ufdadwediy
B. Decreasing every year
C. Fixed for all the year C. fer o orreft et &
D. None of these D. THIHE Tl
53. The meaning of Double entry system 53. T AT YUTTeAY T A9 22
is?
15 A ER 3R R
A. Write transaction in Twice FCQ
B. Write transaction in Two form B. !
C. Write transaction in Two concern C.  fere
D. Thisis latin word e)@é%w%l
L 2
3
54.  Which of the assets given below are > e & g it duf Tl R2

fixed?

;O A
A. Carts e
. Cash Q B. i

B
C. Stock . O C. ®m
D. Debtor @ D. &R
55. If dividend on P&nce shares has 55.  Sfe qferehIX ST Ox SATHIeT =i fofam S
been declared but not paid. On <1 & Fohed TaT A fReT TR R, A

liquidation dividend is paid as:

HHTOA O SATHIRT 3T ST T ST &
A. Arrears of dividend

A.  ATHII Y JhrET URT o6 &9 |

B. Debts

C. Preference Creditors B. FIFEIH

D. None of the abvoe C. qgﬁ%qasr{éqarﬁa;sqﬁ
D. SWI®HUFE I

SPACE FOR ROUGH WORK / &% &Td & forar sre
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56. The Balance of which column is not 56. i @HI aTel Ushe =&t 1 fohd &R T I

calculated in three columnar cash book &l fehTaT ST =
Cash Column A. UHg &FT
B. Bank Column B. %%
C. Discount Column C. dgr&wv
D. None of these D. FHH® T
S7. ‘A’ and ‘B’ are partners in a firm in the S/, WUy @ @Wﬁﬁ 2:3% 33@11?[13
ratio of 2:3. They admit ‘C’ in the firm HTIER 81 o “H 1 BH H 36 I W I
on the condition that in future they will L & T wifersa o aeft wrgiem oy — w1fa
distribute profits equally. The ratio of SIS S| A TTSERT EI T
sacrifice by the old partners will be :
A. 23
B. 1.1 o Bt
c 14 \ €. 14
D. 41 0% D. 4:1
58. The Sub-division of goods accoupfsie” 58.  aq AT ATt @ S A IU-ferwT B
A. Machinery Account A. T @rar
B. Capital Account ; O B. it @rar
C. Purchases C. Iy
D. Cash Acco& D. g @
59.  Profit realised from revaluation is 59. AR * gsht @ Tl 8 W e
credited if the partner’s capital accounts § 1 o TR Shfee (qwThferd) sl ST B

are maintained in fixed method.

A. In Partner's capital accounts A, EERRT o TSft et o

B. In Partner's loan account B H@?ﬁ%%ﬂ@ﬁrﬁ
C. In Partner's current accounts C. HTERI o =Te] @i H
D D

None of these =T A FIE T

SPACE FOR ROUGH WORK / T &%Td & forar sre
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60. Credit Balance of Cash book indicates:-

60. Trehg Y T THTHTH Y FRIT 3l

Bank Balance A. SHIY
B. Cash at bank B. d%¥Use
C. Bank Overdraft C e
D. None of these D. wawd Al
61. The base of Generally Accepted 61. A=A Tehd @i HEaid 1 TER

Accounting Principles is- -
A. Assumptions A, HHAT
B. Rules B.
C. Standard C

inei D.
D. Principle N ()

3
62. Match the column: - o) ST JATET: -

A A
1. Increase in Assets & Liabilitiesé 1. gufeat ue et # gfte
2. Decrease_m Ass:ets & Liabdili 2. et wa aTReE &
j. |IDncrease |r1 Cgplt-?l|&‘AS© T T e A

. Decrease in Capita S P

8 P 4. 9=ft ud gufcer o st
(a) Investment itakin business B -
(b) Drawing or Expehses (a) =T H Gft <br ferfa
(c) Payment of Liabilities (b) AT AT =T
(d) Credit Purchase of asset (c) STRIE T A

1(a), 2(b), 3(c), 4(d) (d) Hafat T U s

B. 1(b), 2(c), 3(d), 4(a) A. 1(a), 2(b), 3(c), 4(d)
C. 1(c), 2(d), 3(a), 4(b) B. 1(b), 2(c), 3(d), 4(a)
D. 1(d), 2(c), 3(a), 4(b) C. 1(c), 2(d), 3(a), 4(b)
D. 1(d), 2(c), 3(a), 4(b)
SPACE FOR ROUGH WORK / T% & @ feta wrire
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63. Bank clearing house is for:- 63. Se THTMYA T Bd 2
A. For deposit amount in the Bank A S i ST ES ¥
B. To keep safely the amount of Bank S .
C. For counting and keeping of B. aﬁ’mﬁwgﬁm fere
amount in the Bank C. S ufdT e W & forw
D. To show the true balance and . .
D. ol sfeht o oiFee st Faafia waf 2w

regulating the transactions of

related Bank i feufer st & fore
64. The relationship of partners with the 64. DTSR T HH T Tl BT 2
firmis : P m——
As manager
B. As Servant Q@
C. AsAgent G al

o

As Monopolist O TEhTTRrRT ol
65. Balance of Personal Accounts will be ;O g; ST Gt oh TSR ohT Seoid BI:

shown : )
A. SR @Tar§
A. In Trading Account Q
B. In Profit & Loss Aeco l@ B. emv-gIi @ &
C. In Trading and Pr, %Loss C. IR s Sv-gIr e i
Account ]
D. In Balance& D. fogrd
66. Ppreference share holders are - 66. gatfererm sTeiawl € -
A. Customers of the Company A, FFF UeS
B. Creditors of the Compan
e bany B. & % TFER
C. Owner of the Company N
C. I ok Tl
D. None of these
D. I Y Tl

SPACE FOR ROUGH WORK / T &%Td & forar sre
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67. Bank Reconciliations statement 67. o gHTLM {1 A 27

meaning is? . .
A. Solving the problems of Bank A S St
B. Remove the problems of Bank B. ich UGN ohl THEITST T AHTE
employees —
C. Statement of Manager
D. Reconciliations of various Bank C. e ol fofer 7
account D. o o fafsr= @rar o1 frem e
68. Wages of new machinery will be 68. % mafiadt <ht wrsiedt qwTiaft S|
shown in : .
o A. el @rarH

A. Wages Account

B. Machinery Account
C. Cash Account
D

Expenses Account
*

69. When Bills receivable is discounted by e e -t saRT T iyt T S SRR
co-venturer, cost of discount is debited O ST &, | wrgr T T O S e
to: -

A. Discount Account A g
B. Co-Venturer's Account Q B. wg-Hred! @rdr
C. Joint Venture Accdunt C. TIh 9Teq 9dr
D. Profit/ Loss A

o OS;:?C% ) D. /T rar

70. Opening balance df&ash book is 70.  Trehg qweh T TRIe 39 forar S & -
shown:

A. On the debit side of Receipts and A. ST STa @ ok 2fere ger &
Payment Account .
B. On the credit side of Receipts and B. STTH YT @Id % shise wef #

Payment Account !
C. On the debit side of Income and C. 3TH = @t o <fore wea o

Expenditure Account )
D. On the credit side of Income and D. 3T =20 @I  Shise e o

Expenditure Account

SPACE FOR ROUGH WORK / &% &Td & forar sre
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71. When goods are purchased for joint
venture the account to be debited is: -

A. Purchase account

B. Joint venture account
C. Co-venturer's account
D. Goods account

72. The Journal Entry to record, the sale of

services on credit is :

A. Debit to debtors and credit to
capital

B. Debit to cash and credit to debtors

C. Debit to fees income and credit to

debtors
D. Debit to debtors and credit to fees
income
73.  Minimum number of co-venturer's in a
joint venture are: -
A 2 B. 4
C. 8 D. 9
74. In which year International A g
Committee was formed,,
A. 1993 B.
C. 1956

The balances of&sets are
transferred to realisation A/cs in firms
dissolution :

A.

75.

On purchase price

B. On Book value

C. On market price

D. Which is more out of them

)

71, S/ G HIed Wl o o wiet Tt Sirar

%,?ﬁW%FﬂTGWHT%:-
A.
B. Hgch HIEH WAl !

C. Ug-HTeH! WAl

D. T Wl

[T % I forsher ox oSt H o gR:-
A, TTER M TE YSi S

B. g T g <ER SHT

C. WY 3T A T <gR ST

S 1T

72.

D<:> LERI R IDAS )
.. O
W G HTeH H He-HIEfGl hl <[,
T B -
A. 2 B. 4
C. 8 D. 9
74. USSR oRgieh JHTa |t o1 T R
ELREIRI
A. 1993 B. 1974
C. 1956 D. 1973
75. w1 o forereT wX aeft wraf 9
ThTeRTUT AT I QAT H ST L e
ST 2
A FATAXR
B. TH AW
C. TSR W
D. ISR

SPACE FOR ROUGH WORK / T &%Td & forar sre
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COMPUTER RELATED
KNOWLEDGE

76. DVD is an example of a (n) --------- 76. DVD ---meee- T T ST & -
A. Hard disk A, TE e
B. Optical disc B e foeh
C. Output device
D. Solid-state storage device ¢ >
D. Wifae-we L feara
77. The first network that planted the seeds 77. 32T o ST o1 UEAT J2aieh bl ©T oT?
of internet was- A ARPANET
A. ARPANET B, NSEaet
B. NSFnet
C. Vnet c n
' D 3 (A) 3T (B)
D. Both (A) and (B)
78. The information processing cycle of a ’Q ‘;&RTQ o T TR =5k H e &9 8
computer consists of mainly ---------- NN __________ T |
parts. 4
A. One B. Two O A T B.
C. Two D. Four B. = D. IR
79. What is another name for a d@l 79. Se-Afe fiiet o forl quar 7w = &7
printer? N é A i
A. Page printer o ‘
B. Non-impact4i B. -z fiiex
C. Impact pri C. i
D. Spray printer D. ®fiex
80. Which one of the following groups 80. ffcIRaa # & fore wvs & et TRee
consist of only output devices? feara &
g. SKcanbner,dPrFl)nj[er, M,S/lmt(-)r A, S fier, e
eyboard, Printer, Monitor L
C. Mouse, Printer, Monitor B. ﬁa
D. Plotter, Printer, Monitor C. wreH, fiet, Hifiex
D. wifey, fiet, HiHiet
SPACE FOR ROUGH WORK / T @14 o {13 18
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81. Which one of the following is the
fastest and expensive computer?

A. Personal Computers
B. Supercomputers

C. Laptops

D. Notebooks

82.  Which one of the following section
does not exists in a slide layout of
Power point presentation?

A. Titles
B. Animations
C. Lists

D. Charts

83.  Which of the following is a class of

&

computer threat?
A. Phishing

B. Soliciting
C. DosS attack
D. Stalking

84. What is the use of computer
hospital? . 6

A. In Patient admissi
B. To keep pat
C. In patient ow
D. All of the above

85. The E-mail component of internet
Explorer is called.

A. Message box

B. Outlook Express

C. Messenger Mail box
D. None of above

THAA HFIT
FRHIA
e
e

o

o w >

& TATEE T3S | HiS[E e 82

11

A. Tt T JaeT i o fordr
B. Uit fanie @ & forr
C. Ui femaas
D. 3WIh oft

A. Message box
B. Outlook Express

C. Messenger Mail box
D. 3UIh H H HIE Tal

. STH U IS T ST S HeTT PR o7

. Foraferfiae § & 4 1 we e oz el

I P ofie T FTd 87
Phishing
B. Soliciting
C. DosS attack
D. Stalking
. STEIATS H FHPR T T AT &7
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86.

87.

88.

89.

90.

USB stands for- 86. USB 1 q0f &Y ------oo- 6l

A. Uniform Service Bus A. Uniform Service Bus

B. Universal Serial Bus B. Universal Serial Bus

C. Universal Sector Buffer C. Universal Sector Buffer
D

D. Universal Service Bus Universal Service Bus

What best describes how an inkjet 87. =H U AT GIY 37T AU LT & 1o Ueh

printer prints an image? Fepaie et wek s sl e fiie st 22
A. cohr;?fcct)tta?t a time to form a A, 3T ¥ o U A i v g
B. Spray painting a character B. hTSHM % fordl & dfe
C. Striking an inked ribbon C. T ot e oht T21geh Rl
D. Dropping ink onto the paper D. I e
Unsolicited commercial e-mail is 88. ok [ — FEATTL |
known as-
. 2=8pam
A. Spam ¢ g) Malware
B. Malware

C. Virus

C. Virus D. Spyware

&y

D. Spyware O
An image can be included in ----- 89. e e Y —oeeev sifEret TR ST weha 2

A. Word file A. TEHEA

B. Excel file * O B. U wIset

C. Power point fil C. UeRUEBrEd

D. Al ofthe® D. SWrE A

Which one of the following is not an 90. f=fefad o @ =g ueh ATRfdT fawen Tt
operating system? 27

A. Windows 7 A [EN7

B. Opera B. 3N

C. Adobe C. M

D. Solaris D

SPACE FOR ROUGH WORK / &% &Td & forar sre
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91.

92.

93.

94.

HINDI LANGUAGE

' ST T 2ATST-2ITST ek ST Hoh 9.

21 58 TRt 1 i fora fomor € -

A. &I foram famior
{fcrarreren foram forwor
ofewToT STk R fersieroT
et fopa fergror

ST T 9T fore qRTa 2t S
erarT STt & -

GESSIREICH

T Ul SATEITST o T
HTHH TR 33T

O O w

o w >

hT BlSHl

TEQE! I@l At 1 I8 fHE Eid 97.

7O Tl AARE T+ -

98.

96.

.~
e -

&=t v

"fepeft foer ferge o for qmam o fore weh
7eq & -

feoma

ufea

TR

c o w >

e g -

T IA-T Tl 3188 T I hifSTu-
A. &
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99. '3, SR, AT 33d S T 39 100. ==t =T ¥Te&T o THE H o 313

IETELT | i GT T 9T § - TITIATE &, T SIHd & | STT9eh! o e 968
A sy T TITHEATE -
B. o A. diEm
C e B. 3T
D e C. Uelmar
D. U

. éQé
%\@\

SPACE FOR ROUGH WORK / &% &Td & forar sre
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ENGLISH LANGUAGE SFUSAT STST

101. Fill in the Blank with correct degree 105. Select the correct preposition and fill
of comparison. in the blank.
Lead i§ --------- than all the metals. She is putting the books from the
A. Heavy bottom shelf --------- the topmost
B. More heavy shelf.
C. Heavier A in
D. Heaviest B. into
102. Choose the correct alternative which C at
can substitute the given
phrase/sentence. D.
A person who eats too much is called Q
a ------- )
1065 Ch8ose the correct Plural of the word
A. Glutton . o
. + Charity
B. Omnivore A Charitvs
C. Cannibal 0 -y
D. Nibbler B. Charities
C. Charit
103. Choose the word which is mgst _ Y
opposite in meaning to the wi D. Charitee
underlined: O
Paucity
107. Choose the correct form of the
A. Certainty narration
B. Timidity He said, "I have passed the
C. Excess examination”
D. Beauty A. He said that he has been passed
104. Select the word with the correct the examination.
spelling. il B. He says he passed the exam.
A. Heirarkia .
) ] C. | said she has passed the
B. Heirarchical examination
C. Hierarchical .
) ) D. He said that he had passed the
D. Hierarkical examination

SPACE FOR ROUGH WORK / T &%Td & forar sre
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108. Choose the alternative which best 110. Choose the correct conjunction and

expresses the meaning of the fill in the blank.

idiom/phrase that is underlined. | sat near the lake ------ admired the
| suppose she was the apple of your beauty.

eye at that time. A. but

A. Your favourite fruit. B. aswell as

B. Your favourite person. C. for

C. Your favourite meal. D. and

D. Your favourite book.

109. Fill in the Blank with the Passive form
of Verb given in bracket
The patient ---------- to the ICU after
the doctor's recommendation (admit)

is admitted
are admitted O

A

B.
C.
D

admitted ( |
have been admitted *

R
&
-

Set- A
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MATHEMATICS

111. A man walking at the rate of 5 km/hr

T

111. ush smeHt 5 km/hr 1 S8 Tk I 1 15

crosses a bridge in 15 minutes the fire o T et & o gt ot ewertg (+fien) |
length of the bridge in (meters) is- St >
A. 600 m
B. 750 m A. 600
C. 1000m B. 7507
D. 1250 m C. 1000 H.

D. 12504

112. 50 is divided into two parts such that 112. 50wt RESREANERIECRED)
the sum of their reciprocals is é Then STchT T A1 igﬁm%eﬁ
> 12
the two parts will be: |
*

A. 28,22 \ A 282
B. 35,15 %
C. 40,10 0 B. 3515

D. 30,20

113. Find the value ofxfroqth@ 113. {7 o ma fr & x i o R |
given below: D
D
B
<

A

A
C
C

A. 40 A. 40
B. 4.2 B. 4.2
C. 48 C. 438
D. 49 D. 49

SPACE FOR ROUGH WORK / T &%Td & forar sre
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114. value of the given fraction will be: 114. =t M o= s A g |

0.7x0.7x0.7+0.5x0.5x0.5 0.7x0.7x0.7+0.5x0.5x0.5
0.7x0.7-0.7x0.5+0.5x0.5 0.7x0.7-0.7x0.5+0.5x0.5
A. 1.0 A 1.0
B. 1.2 B. 12
C. 15 C. 15
D. 1.7 D. 1.7

115. In the given figure, If AT = 16 cm and 115. f&ma fo °, afe AT=16 Gt q9m AB=12

AB = 12 cm then value of TP will be: it a1 TP &7 919 21T |

P
-
B
A

A. 8cm A

B. 10cm Q B. 103

C. 12cm . O C. 12%H

D. 14cm @ D. 14%#

116. The cost price 0 ticles is equal to 116. =fa 19 SRl 1 567 7T 16 TEGST
the selling price of 16 articles. Then e T o SR & 1 T IS 8 |
gain percent is: °

A. 9
A L9, 3%
17 B

B. 15E% ' 15%%

19 c 3

' —0
C. 18%% 184 Yo
0

D. 20% D. 20%

SPACE FOR ROUGH WORK / &% &Td & forar sre
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117. In the given figure PQ = PR and 117. fgr e g afe PQ = PR deT
<PRQ =70° then ZQAR = /PRQ = 70° @ ZQAR FTHF AN |

ratio —: 2 : § then first part will be:
2 3 4

STeT ST 2 T IH SN SAT |

*
118. If Rs 782 is divided in three parts in the X8 G 7 780 1 i i s L 20 9%
1 % 234

oo w>»

Rs 182 é A T2
Rs 190 Q B. 190
Rs 196 . O C. %19
Rs 204 @ D. %204

119. By increasing tr@of acar by 10 119. foreft st Tif 10 fopft/ser ST e 4,

km/hr, the time of Journey for a 3qehT 72 fRet Y @8 a9 O FT 9T 36
distance of 72 km. is reduced by 36 e e ST | ?ﬁ;‘r{ﬁ R TR |
minutes. Then the original speed of the
car is : A. 25 frefiyeer
B .
30 km/hr C. 35 ferdfi/sier
C. 35km/hr e
D. 40 km/hr D. 40 TeRHI/AeT

SPACE FOR ROUGH WORK / T &%Td & forar sre
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120. If x is 80% of y then what percent of 2x 120. 3fg x, y T 80% & Al y, 2x T fohaar

is y? gfcrerd grm?
A 40% A. 40%
B. 623% B. 623%
2 2
¢ 663% c. 663%
3 3
D. 80% D. 80%

121. Rs 250 is equally divided among a 121. 250 T 1 %S ST H SR H SA1eT S
certain number of children. If these = SATreh B a1 Ik B
were 25 children more, each would C A

: _ ITH 2 & a1 ST bt ST & |
have received 50 paise less, then the
number of children will be: ’\ . 80
80 % B. 90

B. 90 O
C. 100

C. 100
D. 120

D. 120 Q

O

122. 1f A's income is 25%.mefejthan B's 122. 3fg A <t 31, B Y 3T | 25% AT &
income then by% h percent B's B it T, A ot T 9 fora afasra &0
income is less than that of A's income =
A. 15% A 15%

0,
B. 20% B 20%
C. 25%
C. 25%
D. 30%
D. 30%

SPACE FOR ROUGH WORK / &% &Td & forar sre
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123. 1f Arrange the fractions in the

ascending order, then the smallest
fraction will be.

17 31 43 59
18" 36" 45’ 60
A 17

18
B. 31

36
C. 43

45
D. 59

60

124. 1fgcdofa& 4is2 and ged of b & 4 is

also 2.

A

B
C.
D

2
3
4

1

Then the gcd of a+b & 4 will be : %\

125. Ifa:b=5: Qa&Q= 4:7, 125.

gag B fir= gt
17 31 43 59
18" 36" 45’ 60
A 17

18
B. 31

36
C. 43

45

123. fe &t 78 f=1i 1 Sgd 367 H T 9@ al

521 4 o7 ot AT SHTgEds 2 8 dla + b

*

qAT 4 T TETH FHTISIE BT |
A 2
B. 3
C. 4

D. 1

Ifea:b=59dqub:c=4:7

thena: b:cwill be dda:b:c
A. 20:36:63 A 20:36:63
B. 35:28:20 B. 35:28:20
C. 35:49:42 C. 35:49:42
D. None of these D. IWIhH & FK TN
SPACE FOR ROUGH WORK / T% & & forar smrg
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GENERAL KNOWLEDGE, AT 7, AT fomm,

GENERAL SCIENCE, THETHTRI TEATshRA, TAES,
CURRENT AFFAIRS, 2vr-foer e Y
SPORTS, NATIONAL- HTHTT AR

INTERNATIONAL GENERAL
KNOWLEDGE OF STATE

126. Who has right to issue writs for 126. wifcren SRR sh AN st o forg qer
enforcement of fundamental rights and 31 fordl} SRS o foTe ohg ST vt

for any other purposes -
A. Supreme Court

B. High Court .
C. Supreme Court and High Court both C et e S IS e At
D. District Court O% Y S —
127. Which is the last state of India? é 127. v =1 we Sifed T i |1 82
A. Andhra Pradesh Q A. ST
B. Tamil Nadu R O B. dftremrg
C. Kerala % C. ¥
D. Karnataka D FaiF
128. Which part of saffron plant is used to 128. T (SITHTF) YT ST i TT 9T T ST
obtain the spice "saffron"? THTCAT "o T SO ITH R 8 2T 27
A. Leaves A. ufwr
B. Dry Stigma B. s R
C. Fruits C. t:_d
D. Petals D. tafet
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129. Which of the following does the
accreditation of Higher education
institute?

A

M.C.1.

B. AICT.E.
C.
D. NAA.C.

B.C.I.

130. Solder material contains

A
B.
C.
D.

Iron and tin
Lead and tin
Lead and Aluminium
Tin and iron

131. Where Krem Um Ladaw cave was
discovered?

A
B.
C.
D.

Meghalaya
Manipur

Mizoram
Arunachal Pradesh

132. In which year the Indian Nat
Congress passed the resol t

Swaraj'?

A
B. 1930 A.D.
C.

D. 1929 A.D.

133. When was the war between Akbar and

1920 A.D.

1942 A.D.

Hemu?

A
B.
C.
D.

1562 A.D.
1576 A.D.
1556 A.D.
1601 A.D.

129. 1 4 9 9 3= e SEAHT 61 TR
AT 7

A. TH. HY I,
B. TIEHIZ
C. st . 37,

D. T1.T T

130. dieet YR H 2T &
A. IFH T fe
B. sewd A
C. é‘s’@mﬁqﬁw

&;wﬁ@awﬁ’

0% C. ﬁqshrcr

D. J®UEA 9T

132. vyt T SRtk o forgy ot Ters

T TS qTR fohaT om?
A.
B.
C.
D.

T 1920
T 1930
T 1942
T 1929

133. a7ere 311 27 o e & el GITT AT?

A.
B. T 1576
C.

D. 1601

T 1562

T 1556
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134. In the Maurya period the Guild had a
meaning?

A. Varn System
B. Armi Rank

C. Marchant's and Craftsmen
Association

D. Cabinet of Ministry

135. Which film of this state has received the

award at the 671 'National Filmfare
Awards'.

A. Bhulan the Maze
B. Sound of Water
C. Chhiyan Bhuiyan
D. Johar Chhattisgarh

136. Where have the 'Kacha Gupta' coins

O

o0 w »

134. grishrer 7 'gofl o7 37f BT o2

JuieET

T T IS

. 67 3t T fheH BT SIS H 3W TSI 6

forer fhem ol TWEarR T BT @ 2

A

*

SRR

39 ST | "I W o THeeh 310 § el I

been found in this state? é RN

A. Pach Rahi \Q A. TERT

B. Akaltara . O B. 3Tehaiall

C. Sirpur % C. fog

D. Banabard Q D. SHIEE

137. Which of the following doesn't take . GTH U I S T 39 T AT -

Oath for the post — i .

A. Nominated Members of Lok Sabha A F

B. Speaker B. iRt

C. Nominated Members of Rajya C. TSIENT % Tifhd ga=
Sabha '

D. State Ministers of Council of D. et o T #=ft
Ministers

SPACE FOR ROUGH WORK / T% &1 & fo1ar siitg
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138. Where the country's first Dolphin 138. 237 3 UBA Sifeth TN Sheg; ShT TATIT el

research centre will be established? I SR
A. Ranchi B. Kolkata A T B, FreHrEr
C. Lucknow D. Patna
C. Jd@>x D. 92t
139. In which river, Kiru Hydroelectric 139. & U fortedt ufrsm form et o faemedia
project will be developed? T ST
A. Jhelum A. S|
B. Chenab B e
C. Indus C. sueq
D. Ravi

D. TEl
140. What is true about Directive Principles 140. W@Sﬁﬁm%%ﬂaﬁw
of the State Policy

A. Itis important as moral ideals )
P . e sTreet & 9§ Agaql ¥

B. [Itis helpful in the interpretation of

the Constitution %\ B. ue il o sarean § e &

C. Itis the basis of evaluation of C. 8 T o AT ol TR &

Government D. sy ot
D. All above °
141. When was Swaraj Party establi @ 141, wrsT T s ST e g5 o2
A. January 1923 ¢ ‘ A. SHaEdt 1923
B. August 1922 @ B. 3T 1922
C. March 1921& C. 59 1921
D. December 192 D. fegmr 1920
142. Which of the following place of this 142. 35 17 o1 FefaRad § 9 e T
state is the principal pilgrimage centre Fe G ORIT o1 T e T 22
of Kabirpanthis? >
A. Girodpuri A N
B. Damakheda B. ImHRES
C. Nagpura C. Jmqu
D. Arang D. 3T
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143. A vote of a voter shall be invalid in the 143. gy faum ufte o gew & g d wh
election of member of State Legislative HAeTdT ol Ha 319 8T afe —

Council if - PR o T e
B. 98 Ueh YA sl A <dT &, A9 ! ek

A. He gives votes to all the candidates
B. He gives vote to one candidate and

leaves blank the rest BT
C. He gives vote to one candidate C. 9T U Tt ol 0 <l &
D. He gives same prefe_rence no. to D. =7 TR el =t Fe ST
more than one candidate .
ATk ST 2
144. The name of the Governor who has the 144. g =T 1 o9 6 HTAhTT doh & aTd

shortest tenure in this state is

TSIITA 7l
A. Shri Ram Naresh Yadav A m—
. AT &
L 4

B. Smt. Anandi Ben
C. Lef. Gen. K. M. Seth
D

. None of above \C- <. 5. . TH. &3
D. STWIhH s T

145. In India, which state is surrounded@ 145. R & gtk Tsat o fo/r tsT R a1 22

maximum number of states?
A. Jharkhand OQ

A. IRES

¢ B. 3@H
B. Assam @
C. Chattisgarh Q C. BTG
D. None ofthe& D. SYURE U g el

146. 1n which of the following country, 146. 2022 o T o T T&9 ol ZAHE T
2022's FIFA World Cup Men's Football TS fe 9 frg 2 & o straem
Tournament will be organised?
A. Fd

A. Qatar
B. Germany B. Sl
C. Spain C. @q
D. Denmark D. 94
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147. What would be the forest covered area 147. Sag Sqe o fog T=sTiad & =

for climate balance? THT =R

A. One fourth area of total A, 97T EeT A A T U s
geographical area of the country ' a9 N

B. One third Area of the total
geographical area B. i HIIcTeh &=t I U fars &

C. One fifth area of the total C. & s:ﬁ'}ﬁ%rq; WW@W qIT
geographical area . !

D. None of these D. FHH T

148. The Prime Minister of India is - 148. R T T HoAAT —-mev BIATE |
A. Elected A. faffa

B. Nominated
C. Appointed
D

. Selected C. @a
. O

B.

149. From the following in whose name the o & & e T wsg TS i
plan of Shiksha Gunavatta Abhiyan has 0 et oraT IR Y FSHT Fiad Sy
UER

been launched in this state?

A. Rajiv Gandhi .

B. Atal Bihari Vajpayee é A e

C. A.P.J. Abdul Kalam‘ O -

D. Maulana Azad @ C. Tdts. 3HogA FAH
Q D. HIAHT AN

§
:
:

150. In which of the following marriage in 150. 3@ Tea o fifaiaa 0 9 forg faame d
this state two families exchange bride qiER 3o & 9 Ud X ST fafme e 27
and groom? ‘ B
A. Guranwat A TR
B. Lamsena B. @A
C. Paysatur C. 99l
D. Paring-dhan D. gifar o
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SET - A

IR 2ifehd A T AU : 3ue SrfereRaw 37k : 150
Time for making answers : 3 Hours Maximum Marks : 150
e
1. 39 TH gikaet # e 9T g -
HAWT - 1 75 Ak
[SICIREDINIC)
AT - 11 75 3R
FHFRET Tarelt {1, fedt e, Sttt s, wrfor, | w, , AEETH{I 9eATshT,
TeTha, JT-TaaeT T T T AR T

Tk T2 1 3k T 2 | FHeT 150 T o A 2 | ()
T2t % 3T, 1 TE OMR AW (ATERTAE) W Hifm)

Terd IR 3ifeha T U Y 31k shTe AT |

forelt +ff e % SheTghorer AT AT I T TART Sf 8 |

OMR 3WIE (TTETIhe) st THT RIS ATTIUHT T HyaEd o a8 we A= a1
3IgH |3 4t foerae anfe ug FAEEY IE TS B T |

Note : ¢ O

1

This Question ists of Parts namely :-

PART -1 Xk“ 75 Marks
Accounts Relate owledge

PART - 11 75 Marks

Computer Related Knowledge, Hindi Language, English Language, Mathematics,
General Knowledge, General Science, Current Affairs, Sports, National-International
General Knowledge of State.

Each question carries 1 mark. All 150 questions are compulsory

2. Indicate your answers on the OMR Answer-Sheet provided.
3. Yamark will be deducted for each wrong Answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5. While using Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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